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(KRirchhoff's Current Law, KCL)

tumviwwisitgulrusuraulwwinlkawiugoaanaulailu +
ua:lkaosonoinaanaulaWlu = avuu anas:uavavinassawWw (KCL)

2 - ad

SvauisatoulusundluTaavi

E [ﬂTgLLﬂh-‘iﬂﬁ]“ D E ]ﬂTELLﬂh-‘iﬂfﬁfﬁﬂ — E [ =0



ADAENL p1asulrAuduMILI2 |3, 14




AUILKIAN
R1//R2//R3




ADAENL p1asulrAuduMILI2 13,14
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A1LA1 R1//R2//R3+R4

R1/R2/R3+R4
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+ RI=25Q - - R3=40Q + Loopl IR+IR-I2R, -V, =0

LR+ LR,-LR, =V,

unum luaums  25L+60L-601, = 50

851601, = 50
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3,000 Y {36001,
- X8y |- — %
85 J U 85

- 3,000 - 3,600I , +8,5001 , -6,375

(8,500 — 3,600)1 , -6.375 + 3,000

4,900, -3.375
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50+ 601,
85
50+ 60(— 0.69)
85
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01 A 138 100 mA

069 A 130 -690 mA




